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 6.  Critical value (one-tailed) = 1.833.  The computed t is not significant.  Fail to reject 

the null hypothesis. 
 
 
 
7.  The results reveal no significant difference between the GPA of re-entry students and 

the GPA of regular students. 
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13.  Critical value = 2.101    The compute t is significant.  Reject the null hypothesis. 
 
 
 
 
14.  The results indicate that participants watching the scary movie eat significantly more  
popcorn than the participants watching the musical.   
 
 
 
 
15 and 16. 
  
 Child          Verbal        Nonverbal    D      D² 
 _______________________________________________ 
 
 C. J.  3  6           -3     9 
 F. K.   5  8           -3        9 
 M. O.  7  9           -2       4 
 I. M.  4  8           -4       16 
 G. G.   2  4           -2        4 
 K. T.  1  1             0        0 
 B. W.  4  3             1       1 
 M. B.  2  8           -6        36 
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22.   Critical value = 2.365.  The computed value of t is significant.  Reject the null  
hypothesis.   
 
 
 
 
23.   The findings reveal that when children are presented with the nonverbal math 

problems,  they solve significantly more problems correctly.  
 
 


